29.6.1 HIE kA TEEADOR v REER

A0 A H LRI EES IS tHasEhRe N E)
JLRG HaFL 5 | gl Aol ] AL el Rl Al sl AE (5 [ (&)
k] 45, 212][ 109, 174] 53, 487] 55, 687 57 26 -12 67 79 38 482] 444 of 211 211
HI—TH 663[| 1,437 702 735 2 4 1 1 0 1 4 3 2 3 1
Sl — T H 540 1,333 669 664 -2 -5 1 1 0 1 7 6 -7 2 9
SLIL=TH 451 1,051 514 537 -2 -5 0 1 1 -5 1 6 0 0 0
SLl&E| 1,654 3,821 1,885 1,936 -2 —6 2 3 1 -3 12 15 -5 5 10
o an—T1H 479 1,033 482 551 0 2 0 0 0 2 2 0 0 0
MR —TH 746 1,884 919 965 -4 -13 -1 0 iy  -10 12 -2 1 3
Mo R =TH 507 1,262 626 636 4 13 0 1 1 9 10 1 4 6 2
g AaMNT H 369 930 454 476 —4 —7 -1 0 1 -5 1 6 -1 0 1
o] H 536 1,250 616 634 -2 -9 -1 0 1 -5 9 14 -3 1 4
M RN TH 231 522 249 273 -2 -6 -2 0 2 0 1 —4 0 4
Rt TH 619 1,637 811 826 0 -3 0 1 1 -3 1 0 0 0
oI\ TH 389 923 459 464 2 6 1 1 0 1 3 4 4 0
o RILVT H 5911 1,452 715 737 3 2 0 0 0 2 4 0 0 0
s A gk 4,467 10,893 5,331 5,562 -3 -15 —4 3 7 -9 35 44 -2 12 14
Hik R — 1 H 318 824 422 402 1 -5 -1 0 1 —4 3 7 0 0 0
I S = 917 2,052 1,019 1,033 6 5 0 0 0 6 14 8 -1 3 4
6 = 666 1,508 734 774 3 1 -2 0 2 4 9 -1 0 1
o A 1,901 4,384] 2,175 2,209 10 1 -3 0 3 6 26 20 -2 3 5
ek BR—TH 562 1,276 631 645 -1 -7 -2 0 2 -2 3 5 -3 0 3
PSR T H 348 822 442 380 0 0 0 0 0 0 2 2 0 0 0
2 = 246 565 281 284 -1 -1 0 1 1 -2 1 3 1 1 0
£ S N 516 1,286 655 631 27 2 2 0 15 20 5 10 12 2
sk o aEt 1,672 3,949 2,009 1,940 5 19 0 3 3 11 26 15 8 13 5
T 5757) 351 1,001 446 555 2 0 0 0 4 7 3 -2 0 2
HOEE ) — 1 H 157 393 191 202 0 -6 0 1 1 0 2 2 -6 1 7
HOEER) T H 405 995 483 512 -2 0 -1 1 2 1 2 1 0 2 2
HOEE) =T H 664/ 1,696 822 874 0 -5 0 0 0 -5 3 8 0 0 0
HOEESI Y T H 696 1,776 866 910 -2 1 -1 1 2 1 6 5 1 8 7
HOEE) ] H 388 943 469 474 0 -1 -1 0 1 1 6 5 -1 0 1
HOEEH S T H 391 964 467 497 2 6 0 0 0 3 3 0 3 3 0
HOEE I T H 639 1,478 709 769 -3 -7 —4 0 4 -3 14 17 0 0 0
HOEER A 3,340[  8,245] 4,007| 4,238 -5 -12 -7 3 10 -2 36 38 -3 14 17
PasEER )| 1,461l 3,085 1,445 1,640 5 6 —4 1 5 4 9 5 6 6 0
FHIAR 325 724 359 365 0 -2 -1 0 1 -1 1 2 0 0 0
@?aﬂqﬂ% TH 444 997 490 507 -5 -5 -2 0 2 -3 0 3 0 2 2
wﬂlﬂ% TH 218 479 250 229 -2 -3 -1 0 1 -2 0 2 0 0 0
B =T H 477 1, 156 575 581 -2 -9 —4 0 4 -2 2 4 -3 0 3
riﬂtlﬂy%lmTa 544/ 1,196 572 624 1 3 0 0 0 1 2 1 2 5 3
m g T H 201 521 258 263 -2 -3 -1 0 1 -1 0 1 -1 0 1
TEERD AR 1,884) 4,349 2,145 2,204f  -10] -17 -8 0 8 —7 4 11 -2 7 9
‘EE AT — T § 649 1,396 659 737 1 3 2 2 0 4 9 5 -3 2 5
B AR — T H 617 1,329 626 703 7 12 1 2 1 5 10 5 6 6 0
%ET’ ARTEEH 1,266 2,725 1,285 1,440 8 15 3 4 1 9 19 10 3 8 5
HIR 318 894 495 399 1 0 0 0 0 -1 0 1 1 1 0
HHR—TH 622 1,519 767 752 2 -2 1 2 1 5 3 -8 0 8
HR T H| 1,498 3,676] 1,814] 1,862 7 4 3 3 0 10 33 23 -9 8 17
HHIR=TH 809 2,206 1,089 1,117 1 -1 -2 1 3 —4 9 5 9 4
HARIT H 446 1,106 531 575 0 -1 -1 1 2 -2 5 2 3 1
HAREAE] 3,375 8,507| 4,201 4,306 10 0 1 7 6 9 49 40 -10 20 30
JeHR—"T H 589| 1,449 717 732 -1 -1 2 2 0 -5 0 5 2 2 0
PR —TH 825 2,162 1,069 1,093 12 26 0 1 1 8 12 4 18 18 0
EHIR="TH 437 969 511 458 4 3 2 2 0 2 4 2 -1 1 2
bR EEF 1,851 4,580 2,297| 2,283 15 28 4 5 1 5 16 11 19 21 2
YT T 318 820 390 430 -1 -1 0 1 0 3 3 0 0
wie| 1,579 5,044 2 321] 2 723 -10 -3 2 5 1 9 8 -8 8
P 750 1, 846 917 929 -1 1 2 1 0 6 6 -2 4




29.6.1 BfE kA TEEADOR e ol AREER

A0 A H LRI EES IS tHasEhRe N E)
JLAG TR 5 sl Anl ] ARl el sEE] isAl @il AE] (H) [ (—)
HAE T A 697 1,862 957 905 3 8 2 3 1 9 9 0 -3 0 3
FYE =T H 614 1,568 780 788 9 17 -1 0 1 15 16 1 3 9 6
FAAIEM T H 889l 2,249 1,107| 1,142 4 0 0 1 1 1 4 -1 3 4
Y E T H 558[ 1,381 671 710 -2 1 1 0 3 3 -3 6 9
FAIEST H 408[| 1,064 512 552 2 7 1 1 0 4 0 2 2 0
mEaEr 3,916 9,970] 4,944] 5,026 20 32 4 8 4 32 46 14 —4 22 26
s 498[ 1, 146 562 584 -3 -1 0 1 1 —6 6 5 5 0
e —TH 310 670 325 345 -3 -2 0 0 0 0 0 -2 2 4
e — T H 589 1,382 672 710 -1 11 0 1 1 -1 12 17 5
RN 899l 2,052 997 1,055 —4 0 1 1 -1 10 19 9
i — T H 257 623 296 327 9 0 0 0 12 59 47 -7 0 7
B T H 621 1,366 672 694 3 9 2 2 0 3 5 4 4 0
B =TH 377 974 493 481 -3 -6 0 1 1 2 2 -8 0 8
Bl aEt] 1,255(| 2,963 1,461 1,502 9 8 2 3 1 17 71 54l 11 4 15
HHE—TH 387 1,059 511 548 1 2 2 2 0 -4 0 4 4 4 0
HUE T H 429 1,114 545 569 0 1 1 1 0 -1 0 1 1 2 1
s —TH 7531 1,949 975 974 4 8 0 0 0 10 11 1 -2 0 2
HHIEMT H 442l 1,060 509 551 0 0 0 0 0 -3 0 3 3 3 0
HHIE LT H 739 1,699 833 866 2 6 1 1 0 1 6 5 7 3
HHIESNT H 226 497 253 244 0 0 0 0 0 0 1 1 0 0
wHEAE 2,976 7,378] 3,626 3,752 7 17 4 4 0 3 18 15 10 16 6
<HX—TH 607|| 1,458 711 747 2 9 0 2 2 6 8 2 3 3 0
<HXL—TH 683l 1,557 767 790 3 -2 -2 1 3 0 6 6 0 0 0
<HX=TH 504 1,196 602 594 -3 -1 -2 0 2 1 5 4 0 0 0
<HXWMTH 486( 1,098 547 551 -3 —4 2 2 0 -3 4 7 -3 1 4
<HXHTH 398 853 480 373 —4 -5 1 1 0 -5 2 7 -1 0 1
<HXEE] 2,678 6,162] 3,107 3,055 -5 -3 -1 6 7 -1 25 26 -1 4 5
W EART—T H 764 1,710 845 865 -1 —7 0 2 2 1 7 6 -8 3 11
HEART T H 4210 1,095 542 553 -4 -10 1 1 0 -5 0 5 -6 1 7
HIEARTAEE 1,185 2.805] 1,387| 1,418 -5 17 1 3 2 —4 7 11 -14 4 18
L¥E 446 868 432 436 1 1 1 0 -5 12 5 5 0
ok — 1 H 966 1,606 708 898 9 1 1 0 6 15 9 2 6 4
kA 1 H 368 628 291 337 -1 -7 1 1 0 -5 9 14 -3 2 5
ok A= 1 H 596 1,645 769 876 -3 -9 1 2 i  -10 3 13 0 3 3
ook AT H 353 765 364 401 2 0 1 1 0 -2 3 5 1 1 0
ik A E 2,283 4,644] 2,132 2,512 —7 4 5 1  -11 30 41 0 12 12
FRIREET H 23 62 32 30 0 0 0 0 0 0 0 0 0 0 0
SRy 7351 1,831 881 950 -4 -11 0 1 1 -9 2 11 -2 2 4
GEA] 254 648 309 339 -2 -1 -2 0 2 3 4 1 -2 0 2
W ] — T 385 1,035 532 503 1 -1 1 2 -1 0 1 5 6 1
] T H 318 772 385 387 1 -1 0 1 2 2 0 -1 0 1
R AT 703l 1,807 917 890 2 -2 1 3 1 2 1 4 6 2
a1 H 622 1,381 700 681 -3 -5 0 1 1 -3 8 11 -2 0 2
a1 H 476 1,208 575 633 -3 -7 -1 1 2 -6 0 6 0 0 0
e A Er| 1,098 2,589 1,275| 1,314 —6 -12 -1 2 3 -9 8 17 -2 0 2
e 274 661 329 332 1 0 0 0 4 4 -3 0 3
IR 227 567 305 262 -1 -1 0 1 -2 0 2 2 0




